
GREAT BRITAIN • customer service  tel: 0845 300 9799  e-mail customerservice@clasohlson.co.uk  internet www.clasohlson.com/uk

SVERIGE • kundtjänst  tel. 0247/445 00  fax 0247/445 09  e-post kundtjanst@claso�hlson.se  internet www.clasohlson.se

NORGE • kundesenter  tel. 23 21 40 00  fax 23 21 40 80  e-post kundesenter@clasohlson.no  internett www.clasohlson.no

SUOMI • asiakaspalvelu  puh. 020 111 2222  sähköposti asiakaspalvelu@clasohlson.fi  kotisivu www.clasohlson.fi

DEUTSCHLAND • Kundenservice  Unsere Homepage www.clasohlson.de besuchen und auf Kundenservice klicken.

Ver. 20141016

Möbelset i konstrotting
Art.nr	 31-8194

Läs igenom hela bruksanvisningen före användning och 
spara den sedan för framtida bruk. Vi reserverar oss 
för ev. text- och bildfel samt ändringar av tekniska data.
Vid tekniska problem eller andra frågor, kontakta vår 
kundtjänst.

Produktbeskrivning
Stol
1.	 Vänster sida
2.	 Höger sida
3.	 Ryggstöd
4.	 Sits
5.	 Skruv (M6 × 7)
6.	 Bricka × 7
7.	 Täcklock
8.	 Dyna
9.	 Nyckel

Soffa
1.	 Sida vänster
2.	 Sida höger
3.	 Ryggstöd
4.	 Sittdel
5.	 Skruv (M6 × 8)
6.	 Bricka × 8
7.	 Täcklock × 8
8.	 Dyna
9.	 Nyckel

Bord
1.	 Bordsskiva
2.	 Ben × 2
3.	 Sida × 2
4.	 Glasskiva
5.	 Skruv (M6 × 12)
6.	 Bricka × 12
7.	 Täcklock × 12
8.	 Nyckel

Avfallshantering
När du ska göra dig av med produkten ska detta ske 
enligt lokala föreskrifter. Är du osäker på hur du ska gå 
tillväga, kontakta din kommun.

Specifikationer
Soffa	 B × D × H 112 × 62 × 87 cm

Fåtölj	 B × D × H 61 × 62 × 87 cm

Bord	 B × D × H 85 × 50 × 45 cm

Synthetic Rattan 
Furniture Set
Art.no	 31-8194

Please read the entire instruction manual before using 
the product and then save it for future reference.
We reserve the right for any errors in text or images and 
any necessary changes made to technical data.
In the event of technical problems or other queries, 
please contact our Customer Services.

Product description
Chair
1.	 Left side
2.	 Right side
3.	 Back rest
4.	 Seat
5.	 Screws (M6 × 7)
6.	 Washers × 7
7.	 Screw hole covers
8.	 Cushion
9.	 Key

Sofa
1.	 Left side
2.	 Right side
3.	 Back rest
4.	 Seat
5.	 Screws (M6 × 8)
6.	 Washers × 8
7.	 Screw hole covers × 8
8.	 Cushion
9.	 Key

Table
1.	 Tabletop
2.	 Legs × 2
3.	 Sides × 2
4.	 Glass tabletop
5.	 Screws (M6 × 12)
6.	 Washers × 12
7.	 Screw hole covers × 12
8.	 Key

Disposal
This product should be disposed of in accordance with 
local regulations. If you are unsure how to proceed, 
contact your local council.

Specifications
Sofa	 W × D × H 112 × 62 × 87 cm

Armchair	 W × D × H 61 × 62 × 87 cm

Table	 W × D × H 85 × 50 × 45 cm

Møbelgruppe 
i kunstrotting
Art.nr.	 31-8194

Les brukerveiledningen grundig før produktet tas i bruk 
og ta vare på den for framtidig bruk. Vi reserverer 
oss mot ev. feil i tekst og bilde, samt forandringer av 
tekniske data. Ved tekniske problemer eller spørsmål, 
ta kontakt med vårt kundesenter.

Produktbeskrivelse
Stol
1.	 Venstre side
2.	 Høyre side
3.	 Rygg
4.	 Sete
5.	 Skrue (M6 × 7)
6.	 Skive × 7
7.	 Deksel
8.	 Pute
9.	 Nøkkel

Sofa
1.	 Side venstre
2.	 Side høyre
3.	 Rygg
4.	 Setedel
5.	 Skrue (M6 × 8)
6.	 Skive × 8
7.	 Deksel × 8
8.	 Pute
9.	 Nøkkel

Bord
1.	 Bordplate
2.	 Ben × 2
3.	 Side × 2
4.	 Glassplate
5.	 Skrue (M6 × 12)
6.	 Skive × 12
7.	 Deksel × 12
8.	 Nøkkel

Avfallshåndtering
Når produktet skal kasseres, må det skje i henhold til 
lokale forskrifter. Hvis du er usikker, ta kontakt med 
lokale myndigheter.

Spesifikasjoner
Sofa	 B × D × H 112 × 62 × 87 cm

Stol	 B × D × H 61 × 62 × 87 cm

Bord	 B × D × H 85 × 50 × 45 cm

Huonekalusarja 
polyrottinkia
Tuotenro	 31-8194

Lue käyttöohje ennen tuotteen käyttöönottoa ja säilytä 
se tulevaa tarvetta varten. Pidätämme oikeuden tek-
nisten tietojen muutoksiin. Emme vastaa mahdollisista 
teksti- tai kuvavirheistä. Jos tuotteeseen tulee teknisiä 
ongelmia, ota yhteys myymälään tai asiakaspalveluun.

Tuotekuvaus
Tuoli
1.	 Vasen puoli
2.	 Oikea puoli
3.	 Selkätuki
4.	 Istuinosa
5.	 Ruuvi (M6 × 7)
6.	 Aluslaatta × 7
7.	 Peitekansi
8.	 Tyyny
9.	 Avain

Sohva
1.	 Vasen puoli
2.	 Oikea puoli
3.	 Selkätuki
4.	 Istuinosa
5.	 Ruuvi (M6 × 8)
6.	 Aluslaatta × 8
7.	 Peitekansi × 8
8.	 Tyyny
9.	 Avain

Pöytä
1.	 Pöytälevy
2.	 Jalka × 2
3.	 Sivu × 2
4.	 Lasilevy
5.	 Ruuvi (M6 × 12)
6.	 Aluslaatta × 12
7.	 Peitekansi × 12
8.	 Avain

Kierrätys
Kierrätä tuote asianmukaisesti, kun poistat sen käytöstä. 
Tarkempia kierrätysohjeita saat kuntasi jäteneuvonnasta.

Tekniset tiedot
Sohva	 L × S × K 112 × 62 × 87 cm

Nojatuoli	 L × S × K 61 × 62 × 87 cm

Pöytä	 L × S × K 85 × 50 × 45 cm

Möbelset aus Polyrattan
Art.Nr.	 31-8194

Vor Inbetriebnahme die komplette Bedienungsanleitung 
durchlesen und aufbewahren. Irrtümer, Abweichungen 
und Änderungen behalten wir uns vor. Bei technischen 
Problemen oder anderen Fragen freut sich unser 
Kundenservice über eine Kontaktaufnahme.

Produktbeschreibung
Stuhl
1.	 Linke Seite
2.	 Rechte Seite
3.	 Rückenlehne
4.	 Sitzfläche
5.	 Schraube (M6 × 7)
6.	 Unterlegscheibe × 7
7.	 Abdeckkappen
8.	 Kissen
9.	 Schlüssel

Sofa
1.	 Linke Seite
2.	 Rechte Seite
3.	 Rückenlehne
4.	 Sitzteil
5.	 Schraube (M6 × 8)
6.	 Unterlegscheibe × 8
7.	 Abdeckkappe × 8
8.	 Kissen
9.	 Schlüssel

Tisch
1.	 Tischplatte
2.	 Bein × 2
3.	 Seite × 2
4.	 Glasplatte
5.	 Schraube (M6 × 12)
6.	 Unterlegscheibe × 12
7.	 Abdeckkappe × 12
8.	 Schlüssel

Hinweise zur Entsorgung
Bitte das Produkt entsprechend den lokalen 
Bestimmungen entsorgen. Weitere Informationen 
sind von der Gemeinde oder den kommunalen 
Entsorgungsbetrieben erhältlich.

Technische Daten
Sofa	 B × T × H 112 × 62 × 87 cm

Sessel	 B × T × H 61 × 62 × 87 cm

Tisch	 B × T × H 85 × 50 × 45 cm



1 1

2

3

4

5

6

7

8
1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

Bord Bord

Bord


